ZRAEKX< (xxa) " 2=b/\2—>> No.l1
1. RO IR B EME 730,

(1) (z+2)? =100

(6) (x+5)* =196

(2) (z—9)* =64

.
. (8) (z+2)*=149
(3) (x—2)?=9

4) (x+2)* =81

9 (z+1)?2=4

.
.
(10) (z+3)* =121
(5) (x—2)7?=4
&.

i




1. RO _IRFBEAEME /230,

ZRAEKX< (x*xa) " 2=b/\2—>2> No.2
1) (xr—2)2=4

(6) (z+2)? =100

.
(2) (x+4)*=25

pia

(3) (z+4)* =381

(8) (z+3)* =64

4) (z—-2)2

(9) (z+8)% =144

(10) (x —9)?

i




ZRARK< (x*xa)  2=b/N3¥—>> No.3

1. ROZWITBAEFE RS0, 6) (xz—8)? =49
(1) (z+6)* =64
.
. (1) (x—2)2=25
(2) (z+4)* =64
.
%. (8) (x+7)* =225
(3) (z+1)* =81
5.
. 9) (z+8)%2=121
4) (z-772=36
5.
= (10) (z—3)*=4
(5) (z—8)?=9
.
.




ZHRARK< (xxa) 2=b/N32—>> No.4

1. ROZWITBAEFE RS0, 6) (x—4)3?=1
(1) (z+4)* =381
.
VS (1) (z—6)2=16
2 (z-2)2=4
.
%. (8) (v —8)% =149
(3) (z+1)*=25
5.
& 9) (z+3)%=121
(4) (x+5)% =100
5.
& (10) (z—6)*=1
(5) (x—2)2=25
.
.




ZHRARK< (x*xa)  2=b/N32—>> No.5b

1. ROZRITBAEMRE 7230, 6) (x—2)72%=9
(1) (z+4)* =381
.
e (M) (z—9)* =36
(2) (z+7)* =64
.
2. ®) (z+1)*=4
(3) (z+3)*=64
5.
Z. 9) (z+7)% =225
(4) (z—8)% =149
5.
GE (10) (z+1)* =36
(5) (z—4)7?=1
.
.




